





A molecule of propane has
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(a) 10 covalent bonds
10 5 stacare) @ e
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{b) Decreases as we move towards its end.
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Int hormone which stimulates cell division 15
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. (b) Old and torn clothes
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(c) Plastic packets
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10. A piece of wire of resistance 2 Q is cut into four equal parts. These parts : == %
~ connected in pamllel If R denotes the equivalent resistance of the | i




SECTION - B

f a concave mirror. Draw

An object is situated at the centre of curvature o
y diagram showing the formation of image.
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infornt of a convex mirror. The

obj ct is placed at a distance of 10 cm
‘ocal length of the

armed at 5 ¢m behind the mirror. Find the t
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(a)  What are the far point and near point of the human eye with normal vision ? |
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(b) Why'do we see rainbow after a rain shower ?
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(c) A person needs a lens of power + 1.5 D for correction of his vision — 3
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I5. Distinguish between electric generator and electric motor. Explain the

H - iy . : . 4 1 1 " 1 ]
functions of (i) the brush ring in electric generator and (i) slip rings in electric
motor.
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(b) Water harvesling
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(b) Zinc reacts
Wi ; : : .
th copper sulphate to give zinc sulphate and metallic copper.
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(¢) Hydrogen sulphide burns in air to give water and sulphur dioxide.
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Nitrogen (atomic Numbe)

7) and Phorus. (atomic b, (R0ARg One e
| Phosphorus (atomic number 15) belong to
group 15 of the Periodic tape. Write the e {
elements. Whicly of these g

lectronic configuration of the two
cments w

; : : "
il be more electronegative and why °
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You are given a hammer, a battery. wires and 2 switch.
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Pl Y : of metals
- (1) How could you use them to distinguish between samples g l

- and non-metals ?
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(i) Assess the usefulness of these tests in distinguishing between metals

and non-metals. 1
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How €an you get compound ‘A’ back from ‘B"”
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ne the process and write the chemical equation for the conversion of ‘B
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(€) A mixture of oy e | :
OXygen ang ethyne is burnt for welding. Why a mixture of

ethyne and ajy IS Not useq :
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33, Describe the differen; e
T L processes of release of energy from glucose in living
~organisms.
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H ow transport of water, food and other substances occur in plant ?
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